HEVERB—-F]I
NG I PNEUMATIC CO. LT R

A FE S $8& Specifications

4142 Bore 12 [ 16 [ 20 | 25 [ 32 | 40
FER I Action type WFIEIDouble Action
T &4 B Working Fluid =5 Air
EERR E KR | BRI FAR! SDBA! Basis stype LB type FA type
’ ) Mounting style SDB type
e gyt © THEEHMPa
) %‘E Working Pressure range 0.1—0.9
. EMP
‘ HESIPE 1.35
Proof pressure
8

IT’E{me°C 0 ~ 60
Working temperature
TEEEMM /s 20 800
Working speed -
& 012 Port Size PT1/4 PT1/8 PT3/ 4

E &S Symbol

MAL MAL-S
A iT#%5 Order Code
_MAL-CA-32X100-5-LB
(= fH) €=y
Blank
EERR LB =

mounting style
FA

SDB

S: MBI
E&Fiﬁiﬂ?[ S: With Magnet

Magnet
¢ =E. AH®
Blank: without magnet

71

stroke

iz

Bore
z=H: BEE
Blank: Eye

EEER U:. FEE

Head cover style] U. Fixedeye
CM: HER
CM: Round eye

me [ MAL: EE

P Type L \AL. Double action
MEFRITIRIBS A AR

% Special stroke contact us

2.062




A REBL# Internal Structure

75

Series

HYC
HYCD

HYCJ
HYCT
HYC

MBB

QGA(B)

CA1

Cs1
DNC

SDA

SDAD

SDAJ
SDAT

SDAW

SDA
CcQs

@
=
o

B

Part name

EE 7 Part name

CcQ2

2 Nut

9 F5#E# / Cushion rubble

SEZEAFPiston rod

10 JEZEFFOFERod O ringl

Al %= % £ BIRod packing

11 SEEF HBPiston seal

ADVU

MSAL

& ifHhR Bush

12 JEZEPiston

MALD

B7% Rod cover

13 it BEIX Wear ring

MALJ

BI% Rod cover

14 . Washer

MAL

& B0 B Cylinder'O"ring

15 RN A iE#Bolt,

MA MAC

oo\lovmbwr\)—tum

L0

f8E Cylindertube

16 Ja&Head cover

MSA

HL12(mm)Bore 12 16

20 [ a5 [ 32 40 50 63

43% Cylinder tube

845 &Aluminum alloy

JEZE Piston

$8A&£Aluminum alloy

SEEAT Piston rod

SWNERE R ELIE)High carbon Steel(Industrial chrome plated)

JEEZE B Piston seal

NBR

BEEORE
Cover gasket

NBR

A= B E
Rod packing

NBR

&K Bush

MM R A$E0Il impregnated bearing alloy

BT ZRod cover

£8A&£Aluminum alloy

fe#Head cover

£

$8A&£Aluminum alloy

S 65Mn
%k magnet ¥B f&Plastic magnet

FriE# 5 NBR

it B5 2R POM

MAD

MAJ
MAR
MA

CJ2
CM2
DSNU

Cu

L
CXS
CXSW

MGP
CJP

CY1B(S)

MH

ZH

2.063



Series

HEVERB—-F]I MAI.
T

HENGYI| PNEUMATIC CO., LTD.

A 5MESR~HZE %) Overall Dimension(mm)

$12~¢63

CAZEEICAEYe A+f7#2 A+Stroke
C+17#8 C+Stroke
AY
! 2-X
P
M7~ I S — A
AR
4 Thick
CME EZ CM Round eye A+{7#8 A+Stroke
B C+47#2 C+Stroke F
AY G,
e Gl2| D1
> V?% _ . e
< \&ijl —]&
:L
UFEE U Fixed eye A+f7%8 A+Stroke
C+17%2 C+Stroke
AY -
i P 612
—lN /_
< V%@ B B L ED
=
#1142 Bore A A1 A2 B C D D1 E F G H | J K
12 107 107 91 38 53 16 16 22 16 10 16 9 4 M5x0.8
16 104 100 88 34 54 16 12 22 12 10 16 10 5 M6éx1
20 131 122 110 40 70 21 12 28 12 16 20 12 6 M8x1.25
25 135 128 114 44 70 21 14 30 14 16 22 17 6 |M10x1.25
32 141 128 114 44 70 27 14 30 14 16 22 17 6 |M10x1.25
40 165 152 138 46 92 27 14 32 14 22 24 17 7 |M12x1.25
50 174 167 147 52 95 27 20 32 20 22 24 19 8 M14x1.5
63 174 167 147 52 95 27 20 32 20 22 24 19 8 M14x1.5
f11¢ Bore L M P Q R R1 S U \ W X AR AX AY
12 M16x1.5 | 14 6 12 14 15 9 19 6 5 M5x0.8 6 25 22
16 M16x1.5 | 14 6 12 14 10 9 23 6 5 M5x0.8 6 25 22
20 M22x1.5 | 10 8 16 19 12 12 29 8 6 PT1/8 7 33 29
25 M22x1.5 | 12 8 16 19 14 12 34 10 8 PT1/8 7 33 29
32 M24x2.0 | 12 10 16 25 14 15 39.5 12 10 PT1/8 8 37 32
40 M30x2.0 | 12 12 20 25 14 15 49.5 16 14 PT1/4 9 47 41
50 M36x2.0 | 16 12 20 24 19 16 55.5 16 14 PT1/4 11 53 46
63 M36x2.0 | 16 12 20 24 19 16 69.5 16 14 PT1/4 11 53 46

2.064




